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Xcept answer-book, no e@ra sheet will be given. Write to the point and do not strike
the written answer. ~
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Candidates must write tf’@'r Roll No. on the question paper. Except Roll No. do not

write anything on question‘paper and don't make any mark on answers of objective
type questions.
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Before answering the questions, ensure that you have been supplied the correct and

)
complete question paper, no claim in this regard, will be entertained after
examination.

AT 3397 :
General Instructions :
() @t 797 sifard &
All questions are compulsory.
(i) T T B T By 15
Write the correct OP;nion in objective type questions.
fii} &8 38 o5 7 W%?J = o778
Internal choice hgs peep, provided in some questions.
fiv) m;’ﬁ%a‘?ﬁ@%mm@ﬁz

Marks of each Question are indicated against it.
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SECTION-A
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(D) M IR, An REA

3

A spherical murror and a thin wphesical lens have cach a focal length of ~15 cm.

The mirror and the lens aze hkely 1o be
(A)  both concave

(B) both convex

(C] the mirtor 18 concave and the lens iy conveX
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(4)

Which of the following ‘C":s does not represent clectrical power in a circuit ?

e

(A) I’R < (B) IR?
C) wi (D} VR
-
3. Ry o &SI AES e B :
o,
The Sl unit of clectric cur;_;gm 19 o .
4, yiza & wg g em w i fe b 7 !

Why does the sun appear reddish eaclvin themorming 2

5. Prefafa gv @ @ w ¥ gftE (A) 3T FT (R), 5@ & kg 2y T oo wee

<

A (A): FARE @iy & AR R OTEE A 2w ad gk v b Tk
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w7 (R): Mﬁgﬁg}mwwamhm}hﬁnwmw
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(B)
(C)
{D)
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The question below consists of two statemggi,ts . Aggertion (A) and Reason (R),

answer the qucstion by selecting the approﬁ’ﬁiatc option given below :
Kl
Assertion (A): a inbow is sometimes seepn in the sky in rainy season only

when observer's back is towarqg the sun.
o

Reason (R) : Internal reflection in the Sﬁater droplets cause dispersion and

the final rays are in back\&\)rd direction.
1

(A)  Both (A) and (R) are true and (R) is the':gorrect explanation of (A).

(B) Both (A) ang (R) are true, but (R) is not the correct explanation of (A).

~ -

(C) (A) is true, but (R) is false. i

(D) (A) is false, but (R)is. true.

6. M=fvRea @t oftawr dfer Ce1es
(a) SN F GAH
(b) FHEAE T
Define the following : E{
* (a) Scattering of light Et’)‘{
(b) Atmospheric refraction P

7.agamaagaﬂ%fww'ﬂmwwmmamwmm%? 2

i s?
Why is the tungston used almost exclusively for filament of electric lamP

| _ p.T.O.
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The potential diffcrence between the terminals of an clectric heater is 60 V,

when it draws a current of 4 A from the soru\rcc- What current will the heater

draw if the potential difference is increased 10220 v?

(48]
<

8. muw%?m&maamaMWm%aﬁmm«ﬁﬁ?m%? 3

What is resistance ? State its SI unit: On which factors does the resistance of a

conductor depcends ?

9. (a) mwmﬂmﬁa@m@mwmaﬂmmmg? 1

When is the force experienced by a current Carrying conductor placed in a

magnetic field largest ? [(:

—
) m

(b) ammmﬁ@_@@m@aﬁm? 2
<

Why don‘t two magnetic lines of force intersect cach
Other ?
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What is the functjon of amiearthwire ? Why is it necessary to earth metallic
™M
appliances ? <
H
<

10. (a) BRI H Aygdq 71 & ? EH & faw fafe 3

What is refraction of light ? Write down the laws of refraction.
(b) &5 AN F qgy qdvr B WY F AE-Y Q0 B I@ R § SR 7 2

Which mirror do we use as rear-view mirror in vehicles and why ?

Yqr

OR
(a) mmﬁﬂﬁmgﬂwﬁ‘h%lﬁa@aﬂﬁm@W@%mm
g @ &9 @ 10 &0 g0 | sfifem 1 2 3

[\
A concave lens has fécal length of 15 cm. At what distance should the

object from the lens bgblaced so that it forms an image at 10 cm from the

—
lens ? (o

(b) mqﬂml 1

Write the mirror formula.
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(c) wzﬁwmmaﬁﬁqiﬁthmmmqﬁmﬂw&? \

Name a mirror thal €an give an erect and cnlarged image of an object. o -

-

SECRON - B
(e )
(CHEMISTRY)
11. F & ¥ Roed R & 390 dar) @ g sQ @ Frd few amm R 2 1
(A) WiEaw FEgiwee
B) ¥ mrPEs =
(€)M wrg )
(D) Iy |l P

Ly
3

.

Which of the following solutions wis. used to white wash wallg ?

{A} Sodium hvdroxide
(B) Calcium hydroxide
{C} Magnesium hydroxide

(D) Al of the above

s
s
—
12. CaOCL 8 T Tm 3, 3 7 <
) —
_ <
(A} (B) Priwg oo
€y ¥En A (D) W= @
1108480t : A) .
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What is CcOmmgon name of CaOCl, ?

(A)  Gypsum
I\-
(B)/B‘e“hing Powder
™
(C)  Baking Soda E
(D) WaShing Soda
13 i, TH Oy ¥, & R F A9 W &g &l B 1
............ is a mctal, which is a liquid at room temperature.
~ .
h n
14. IafE Qe @ s 9= ) ol 8 7 1
v )

Why do ionic compounds h@c high melting points-?

15, Prfafee ned & @ 3 € ¢ af@ud (4) R #17 (R), 997 & A R M Jugw e
1 A FTQ g JuT AR : 1
AREET (A):  T9R R NG g @ A & 3 @ S g

g B T B gufefy § e aiEs B oges R arg ol i

ﬂ'ﬂm%ﬁ‘vl?:?{m%

A ()R T TR T, (4) e

(B) (A)d(R) i ww R, WQR), (A) R 7& amEA 7@ B

T (R) =

(€)
P.T.O.
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1 . )
( 10:- gsertion (A) and Reason (R)

: A
w consists of two sta{;@ments ' )
on given beloy -

ion belo .
The question ion by selecting the appropriate optl
ucstio
answer the qucs :

=¥

' i nlight,
Assertion (4] : White silver chloride turns gre¥ in sunlight

Decomposition of silver chloride in Presence of sunlight takes
hlorine gas.

Reason (R) :

P

place to form silver metal and €
™M
<1

(A) Both (A) and (R) arc true and (R) ig'?wc correct cxplanation of (a).
(B) Both (A) and (R) arc true, but (R) is not the correct ¢xplanation of (A).
(C) (A)1s true, but (R) is falsc,

(D) (A) is false, but(R)uis true.

16. fowre sfvfrn 71 ¢ o g dfm 2
What is displacement reaction ? Give an example,
17.maﬁa§vﬁaﬁﬂaﬁmwmﬂqﬁém%? 2
Why do acids not show acidic behaviour in th
~ ¢ absence of ater ?
[\

18.mmaﬁam'A*a'B-%uﬁma'A'%mem 3
¥ .
»3 T iy q A W

You have two solutions 'A" and ‘B The pH of Solution - d pH of solutie”
[] [ . . -y (
B' is 8. Which solytjoy has more hydrogen ion con A'ig pand P

¢

3 4 4 e = ’ o /' . O{
acidic and which ong ;¢ basic ? Otrygjon ? Whic h
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19. AN T % g ¢ el @ G ¥ e e .
Differentiate between metals and non~n[letals on the basis of chemical
properties. =

™
S N
~
OR K
Il SliEeE =y oy ¥ 7 & owawHl SRS & admrey SR 3

What are amphoteric oxides ? Give two examples of amphoteric oxides.

20. (a) @#faéqmmﬁqﬁaﬁ?ﬁm;mmﬁmﬁm%?mﬁmﬁ
ffa r~ 3

H
Why is the conversion of ethanol to ethanoic acid is an oxidation reaction ?

)
Write the reaction also. ' https://www.haryanaboard.com

(b) TETET A H ¥ ? e A a 2

What is an homologous series ? Explain with an ¢xampile.

S

e
OR
(a) sé‘ﬁfﬂﬁﬁm’"‘ﬁ@: 1x3=3
r~
() @A TS =
™
(i) HeS 5
e
i) ST
P.T.0.
;&
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(12)

Draw the clectron €0t structures for :

Al43177

(i) Ethanoic acid

(i) H,S

9

(i11) Propanonc N
b) T o AR B I sfew st 3 T AW ol R am b7 2
7

Why are carbon and its compounds uscd as fucls g’ most upphcations 2
g - §
SECTION=-C

(Fra faem)
(LIFE SCIENCE)

‘- o

21. F= & & 99 omm oe @ i & b7 1
(A) T8, I T W
(B) T8, ¥ T A
(C) TR, T T ©d)
(D) a8, TR T @y
Which of the following constitute a food chain ?

(A} Grass, Wheat and Mango

Al43177

(B/)/ éruss. Goar and Human
(C) Goat, Cow ang Elephant
(D) QGrass, Fish and Goat

11084Set : A)
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(A) SA3m9g

(B) iy ~
—

©) gFaRwm W
Lo

(D) fEmafe o

Which of the following is a part of male reproductive system in human beings ?
(A) Ovary

(B) Uterus

(C) -~ Vas defercns

(D) Fallopean tube

23, AT F A A B & T qOT F ......... LR ] ;
—
The main reason for the |oss of ozone l@e{ in atmosphere is the increase
Sy -
13 o W . &
24, W & g A AV O B wvawer 3 R o § 7 ’

What is essential for the synthesis of thyroxine by the thyroid gland in human ?

1108/(Set : A) ??.. FGouate:
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25, ﬁqﬁmnﬁﬂﬁwg ﬂﬁmmmw(m 7 3 AR R W ugm fam
wmmgmmq _: | 1
T (A) : Wmmﬁﬁwm%&mﬁmméﬁ%l
FR (R) : mﬁﬁ%‘"‘ﬁwm%wﬁmﬁm% |
®) (A)3(R) A T E T (R), (a) & 7@ aren. B

(B). (A)3 (R) & 7@ & T (R), (A) F a8 @ T &

["s

~

(C) (A) &9 ¥, T (R) 9 ¥ -,

<

—

(D) (A) 98@ 3, WY (R) T 3 <
Fatrid

The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :
Assertion (A) : Energy is required to carry out different life processes.

Reason (R) : Energy is-obtained in the form of ATP in the mitochondria.

(A) Both (A) and (R) 4fe true and (R) is the correct explanation of (A).

=
(B) Both (A) and (R) are true, but (R) is not tl‘(i% COrrect explanation of (A).
<
- —
(C) (A)1s true, but (R) is false. &

(D) (A) is false, byt (R) is true.

1106/(Set : A) 8

Previous Pathshala

Q.
S



(15) 1106’(Set . A)

6. T T T H Ay, o 2

() mmmmﬁmmg

A143177

(b I T TR gy D
Name such plant hormone, which :

(@) induces cell division

A143177

(b) inhibits growth

27. WG W g b R FHE ! - 2

. What are the functions performed by the testis in human beings ?

8. qw A o FE W R B & 3

Draw a labelled diagram of longitudinal section of a flower.

2, fteq 3 A & 30 T FW 5 R w9 R SO A 7 3
How do Mendel's experiments show that fsaits are inherited independently ?
f\ -
v o )
<
OR

How is the €% of the child determined in human beings ?
o
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30. (a) adg A ST T & dy e iy 3

Write three diffcrencey HBétween acrobic and anierobic respirotion in
{‘\

human bcings. —~
(b) WM @ oA R TR Ry g b 2 5
What is the role of saliva in the digestion of food ?
aqq
OR
(a) Wmaﬁﬂamﬁﬂﬁamn 4

r
Draw a well labelled dl.ap,r.im of human digestuve system.

(b)mﬁm#mammwmmﬂam?? 2

=4
What are the necessary. conditions forautotrophic nutrition ?

:‘/‘i ;

N143177
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